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1. H20p + HXg — H30%Gg + Xaq) (X:Cl,Br,1)
2. HOqp + HNO3zpy — HgOzLaq) + NO3(aq)

3. 2H20p + H2SOsp —» 2H3z0%q) + SOLZL(_aq)

1. NHszg + HOp —» NHZ(aq) + OH (_aq)

H20q

2. NaOHs —Na .y + OH (g

(uall jadl) Jdladl Jolis >

H3Ozraq) + OH(_aq)—> 2H>O¢)
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NazCOs(s) + H20q) — 2Na;. , + HCO 3(aq) + OH(ag)

(ag)
56 Y 4T 2
SO2g) + H200) —» H2S0O3(aq)
J’_ —_
H20q) + H2S03(aq) _>H3O(aq) +HSO 3(aq)
Gl 3
+ —_
Nas) + H200) —» Na(aq) + 1/2H2(g + OH (aq)
ipasl> Jglona JEUS <
e 1
Znis) +2H30%@ag) — > Zn?*(ag+H2@g + 2H200)
@b gySw e e 2
HCOg3'(ag) +H3O*aq) — CO2(g) + 2H20()
Ol ! pga3guall bgaS g -3
CO3%(aq) +2H30%ag) —> CO2(g) + 3H20q)
( CaCOs(s) ) =l g 4

CaCOs3(s)+2H30%(ag) —» CaZ*(ag+CO2(g)+3H20¢)

CRCLIEVESS Jelds >
CO2(g) po &dbo &S olio
CO2(g +Ca?*(ag) +20H @) —> CaCOszs) + H200)

1aslgilly (aelgoel) (53T CoMeLas )
H20(|) + R—COOH(|) —> H30+(aq) + R—COO_(aq) A
(R: H, CHs , CHsCH> ...)

R—NHz(g) + H20(|) e R-N H3+(aq) + OH—(aq) (RZ CH3 , CH3CH2) 2



